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21 3 7218 &R gE&A (1) 3.0C 2.9¢ X 3.00 3.00
Y EBVEVES E% +2.7 +0.7 +2.17 +2.7
28 1 7405 =# #1— (1) 2.61 2.45 2.43 2. 61 2. 61
Tt VIt JRH +3.0 +1.2 +1.5  +3.9 +3.9
2| 8734 ¥H EEFE (1) DNS
WE g% 184




BF24

[RB% [9F148 [13:35]
E IR
H
REFEFEE4% (CR) 1.04AJIl £ BE 2010/09/04
£ F0E% (GR) 6. 35 JEM KE m/NEF 2021
RB
B B - K& miE4 -2 - SBOL 4 s e m® %
1) 32 7348 &hE E&(2) 6.04 5.99 5.97 6.04 X X X 6.04
Th) Yy #I -0.4 +1.C +0.€ -0.4 -0.4
2 33 9389 iRft Hast (2) 5.54 5.71 5.4¢€ 5.7 X 5.97 X 5.97
1t 3% REEFAC +0.3 +1.3 +0.2 +1.3 +0. C +0.0
3 29 7434 # F=H(Q2) 5.3C 5.44 5.4C 5.44 5.13 X 5.51 5.51
L¥e 44414 7323 +0.2 +0.C +0.§ +0.0 +0. 2 +0.C  +0.0
4 28 8247|8#K Wik (2) 5.47 5.3C 5.4C 5.47 5.42 X 5.43 5.47
AR U4 ik +0.7 +0.4 +0.4 +0.7 -0.3 +0.9  +0.7
5 27 6265 2R —E(2) 5.4C 5.11 - 5.40 5.2€ X X 5.40
n9F AR Y K +0.7 +1.C +0.7 +0.2 +0.7
6/ 31| 8136 %k TE(2) 5.06 4.9¢ 5.1 5. 11 X 5.12 5.31 5.31
1M YR FAREER +0.7 +0.& +1.C +1.0 +0.8& -0.¢8 -0.8
70 11 7720/ FE X5 (Q2) 4.38 4.671 4.92 4.92 4.67 4.5€ 4.5C 4.92
545 IR LRz +1.3 +1.2 -0.7 -0.7 +0.€ +0.4 +0.2 -0.7
8| 23 8416 HE HA(2) X 4.91 4.84 4.91 X X X 4.91
ANg Y B A= E +0.1 +0.9 +0.1 +0.1
9 24| 7851 :Bk #if(2) 4.8 4.78 4.8¢8 4.88 4.88
13 {Y% Elg +1.2 +0.C +0.3 +0.3 +0.3
10/ 15 7389 BE H*x(2) X X 4. 8% 4.85 4.85
80 9% JRH +0.1 +0.1 +0.1
11 220 6288 L #AK(2) 4.84 4.58 4.7] 4.84 4.84
91943 hv4 REHT +0.7 -0.2 +0.€ +0.7 +0.7
120 200 8271 Lt# BE (2) X X 4.78  4.78 4.78
hIh7 vk B o R -0.5 -0.5 -0.5
13) 25 7169 Z#h E#—B (2) X X 4.71 4.71 4.71
7% hu4Fan [Tipul +0.3  +0.3 +0.3
14| 16 6834 ®iA [5F (2) 4.68 4.23 4.7 4.7 4.7
YIP Efh BE +0.7 +0.3 +0.2 +0.2 +0.2
15] 30 7104 XK &H () 4.65 4.62 4.7C 4.70 4.70
T [N -0.4 +0.7 +0.4 +0.4 +0.4
16/ 14/ 8904 thg 33K (2) 4.57 4.63 4.5] 4.63 4.63
Th=y Yavh =H +0.5 +1.€ +0.4 +1.6 +1.6
170 18 6997 F=E —ZE (2) X 4.38 4.59 4.59 4.59
b9 49% S H +0.C +0.€ +0.6 +0.6
18] 21| 7646 #A[R &% (2) 4.54 4.39 4.44 4.54 4.54
wWN 5 19% [E] & &R +0.7 -0.€ -0.1 +0.7 +0.7
19 7 8881|% M Hk(2) 4.21 4.33 4.5C 4.50 4.50
¥0F Uy &g +1.4 +0.1 +0.1 +0.1 +0. 1
200 10 6496 2R B3 (2) 4.4¢ 4.4] X 4.47 4.47
779 05 b ERILEE +0.3 +0.C +0.0 +0.0
21 5 6849 TEfE #EEE (2) 3.87 4.44 4.3% 4.44 4.44
NED TV hE +1.1 +0.2 -0.2 +0.2 +0.2
22 20 7180 —1u EF(2) 4.3¢ 4.06 4.4C 4.40 4.40
1747 198 =1 +0.4 +1.1 +0.€ +0.6 +0.6
23 6| 6461 Z=E &(2) 4.38 4.1 4.05 4.38 4.38
Y 5 -0.¢ +0.& +0.% -0.9 -0.9
24 9 8182|[R #mk(2) 4.25 4.09 3.9¢8 4.25 4.25
Ny 47°% Ea -0.2 +0.5 +0.% -0.2 -0.2
25 3 7457\ % 15:2(2) 4.15 3.71 4.07 4.15 4.15
Y1 494 IEPNIEL AN +1.2 +0.7 -0.2 +1.2 +1.2
26 8 7994 K5 TAME(2) 3.73 4.08 3.92 4.08 4.08
% M Him +0.C +0.5 +0.1 +0.5 +0.5
21 4/ 6749 hE &% (2) X X 3.71  3.71 3.77
ThY' ¥ EE % = -0.§ -0.5 -0.5
13| 8569 [+t K3F (2) X X X NM
Thh3 548 =l
19] 7949 Kiz 1&Z (2) X X X NM
' avtq Eh A EME
1 8512 B %I (2 DNS
33y Yagh’ XEE
12| 8628 Witt BE (2) DNS
1747 4t B4
177540 =1l #% (2) DS
Ivh9 19Y WBE? S
26 6699 iRk £% (2) DNS
hby vavh BE




BFIE

(REE [9F148  [14:30]
Fa AL #% (4. 000kg)

R 554 (COR) 15.78 \LA E ABHT 1982/06/13

K8 OR) 11.26 B35 &R £S5 2017

e

N Bt - K % i & -2 3 SBP. 4 5 6 BR O WE
118 8705 ;;5 I\&}“\L(U i 7.82 7.68 890 8.90 831 872 836 890
2/ 16 GZBO%ﬁE(U - x | 814 871 877 | 856 x 853 877
3 17 7955 ﬁﬁ%&;ﬁm . 7.47 6.99 7.37 7.47 | 7.00 7.82 8.08 8.08
4 14) 8234 zaz;é??ﬁf(‘) - 6.41 6.83 6.81 6.8 | 679 7.21 7.66 7.66
5 15 84409%%"{[1(1) U 6.35 6.53 6.57 6.57 @ 6.86 7.04 7.28 7.28
6 10 8510?%?4—4{5?(” Xt 710 6.92 7.22 7.22 | 7.19 6.74 71.25 71.25
T 12| 8443 ;J};ﬂl\@ﬂ) U 6.40 582 6.68 6.68 6.06 7.10 6.55 7.10
8 8 8623 Eﬁwffiﬂ) i x | 671 630 671 | 691 x 630 6097
9 5 7359 f%E ﬁ;” i 523 592 6.32 6.32 6.32
10 4 8319 ﬁ;ﬁﬁ?@ﬂ) - 545 6.09 6.12 6.12 6.12
1113 6286 iﬁuﬂiﬁm - 568 573 590 5.90 5.90
127 6838 \%ﬁ ﬁ;‘?{ﬂ) a5 474 526 501 526 5.26
13 11 7601 ;E;ﬁ %Em . 4.84 x 456 4.84 4.84
14 9 7962 T%;E [j%jf;?g;” . x 446 4.06 4.46 4.46
15 6 8390 iﬁ’j{;{?ﬁ%é” . 3.73 4.44 419 4.4 4.44
16 3 9861 ;‘;IH\? %EN” SEHTFC 3.68 4.03 4.24 4.24 4.24
172 6975 f%y%vﬂﬁ}f;ﬁm - x | 3.92 339 3.9 3.92
18 1 9868 ﬁk ,?ﬁﬂ(” - 3.51 3.43 3.58 3.58 3.58




BF24

(REE [9F148  [14:30]
Fa#L#% (5. 000kg)

EFHE R34 CR) 14.43 000 B 34 t=% 2023/08/22

2528 (6R) 11.81 @iE &R E 2018

R

NEfL B Fon - K % Ri-E - | -2- | -3 E%_E_”éﬁ -4~ 5~ -6~ EmEE  BE
1 12 6995 O £/ (2)

;5 iy ae T T T e e T

3 11 6847 ;(%/A; gg@ REA 9.22 9.34 9.14 9.34 8.78 9.24 9.24 9.34

0 s . . . . . . . .

4 3 6856 ﬁff‘jﬁ@ s 7.21 7.77 8.02 802 7.56 7.47 7.55 8.02

5 10 7574’;%5; ;E’;’\f}? —— 6.51 6.59 7.69 7.69  7.02 7.49 7.19 7.69

6 9 36273753; ﬁg.%m) i x | 7.51 7.40 7.51 7.53 7.24 7.38 7.53

76 6743?@?{/?}”[‘;3‘(2) - 6.58 6.91 6.26 6.91  7.52 6.69 6.51 7.52

8 8 73365%;&%(2) —_—— 7.24 6.91 6.87 7.24  7.22 597 6.69 7.24
A AL ;

11 4] 8704 lﬁg ?%%(2) o 4.92 4.78 5.14 5.14 5.14

12 1 8179 ?ég*gﬂz) 2 4.48 4.34 4.69 4.69 4.69

13 2 8414:;% gg(z) 5 | | | | |

¥ J— 4.32 4.34 4.43 4.43 4.43




BFHE

GREE [0R148__ [12:05]
JL
P& (1. 500kg)
EHEh5545% (CR) 39.00 &5 2R HE 2018/10/07
£504% (GR) 2416 /M2 %2F9 Rig 2023
R
oz on = . P S PSR 1 - 17> N T = AP
JEAL B Fon K #& R4 1 2 3 pppst 4 5 6 ERE e
1 13 7157 @it ®A Q) REEH
| ga Um() g 21.77 23.89 x| 23.89 | 22.41 25.79 24.33 25.79 o
5 1702 a5
1 ;ﬂ,ﬁ 1,]?3() . 24.21 24.10 22.91 24.21 | 23.56 23.41 x | 24.21
F4EQ2
o W,g; W0 19.68 x  18.69 19.68  19.18 21.35 20.31 21.35
4 12) 6697 B IR (2)
1 73131;2;32 ﬁ%() e 17.65 16.93 18.44 18.44  17.00 18.09 17.55 18.44
2
1 22{7%%() P x | 15.72 x| 15.72 | 16.91 12.38 x | 16.01
ES 2
1 3219”7#;224() g 14.97 15.78 16.78 16.78 x | 14.62 14.91 16.78
BEH 2
R Tl - 16.12 15.73 16.13 16.13  14.49 15.65 x | 16.13
8 8 8255 %M@ H(2
i w;”;gﬁ() . 15.93 14.67 13.77 15.93 | 16.13 15.84 14.87 16.13
\Y: 3 2
e s 'lef() e B X x | 13.39 13.39 13. 39
5 &
B b ‘M;/g . N x | 9.93 12.74 12.74 12.74
e EE A
il i 9.17 11.02 9.88 11.02 11.02
12 1 7600 #% #(1)
T Ty{%{\”%() S x | 7.82 «x 7.82 7.82
mE FEA
B e S 6.51 592 «x 6. 51 6. 51
4 8434 5EH KiE(1) < < < NM
i 4 4% Bk B =
2 7388 KM@ B2 () DNS
T4 Va9 Ak R H
15 9392 KI5 B (2) DNS
' 14tb TEFAC




